Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

x (%]
r u— r 0]
L [S] = =4
o . . . . . . . = o . T . . . . . T oggh e
il i & ALt S SRS & 18F ool 2
i . . . . b . . i . . . . . . . k=]
o . . . . . . o (<SR [~ A A A N SRS B . A S
- . . =T . . . . - . . . . . . . o .
1.6f---r---e- A Y R N E N S 1.6f---r-- g e TN e @ :
AR 1 I I I (O N I A S | B E ) O
| . . . . . | . . . o .
SRS SRl & [ {10 I ALEE R S I : x | .
L : : : : : : L : : : - .
L : : : : : : : L : : : : : : : o :
- : : : : : : : - : : : : : Al = :
e RS kIS (| LI I ol | SR SRS S SIS |1 EAE AN o edeee e

Ratio
Ratio

bt T b (i

015 -10 -5 0 5 10 15 20 015 -10 -5 0 5 10 15 20 B0 -15-10 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)
—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
2

0.95 0.95

Pull of y

TS e T A s S I
N . e e 1
SR |1 A I T

R S

bl

Pull of y tor merged vertices

3

0.8

0.6

L
FRVE)

Ratio
Ratio

0.95;

0=i5=i0 5 0 5 10 15 20 05 ={5=16° 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

N 1]
— r ]
5] ro : : : : : : o
----------------------------- R | R R SRR TR S
a r : : : : : : >
: : : [ : : : : : : =}
AN RIS S { RS SIS S I I R )
2
: : o & : : : : : ©
| - : =
: -
. o
: =)
J| T N
: -
: o |
: =
IR s L
: 12_ ..............................................
P SRR i

Ratio
Ratio

5 10 15 20 0¥ 15 -10 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

| f————
[4)] o
o

0¥ =15 —10

2



	Contents
	Page 1


